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PART A
Answer any FIVE questions: (5x15=175)
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(b) Prove that Iogmnx:log—”x
1+log, m
o log, X
&iés: log,, X=1+|ogn -
2 -2 3
2. Find the inverse of the matrix A=|1 0 -3
3 4 0
2 -2 3
A=(1 0 -3| eerm si6ueNuiest CHITLOTMI Si6N SHM6T018.
3 4 0

3. Solve the following set of equations by Cramer’srule
S&MEYILD FLO6TUML 6oL SGHL eNGlemuwill LTUGSSH &6 HT6ius:
X—-2y+3z=1; 3X-y+4z=3,; 2x+y-2z=-1

4. Find the area of the quadrilateral whose vertices are
(1!2)1 (21-3)1 (-214)and (-11-5)

(1,2), (2,-3), (-2,4)and (-1,-5) BTOUMSS60T LGSHemS Sevur(BLillg,
(i1) Find the angle between the lines joining the following pair of points
A(2,3);B(4,-2);andC(3,2);D(4,9).
MNeoreupLd LemeN&ened C&(HLd CHT(HSEHSHEG QemL_ullevmss
Camenisamnss seoimluteyd A (2,3) ;B(4,-2);andC(3,2);D(4,9).
5. (i)There are 3 books in Economics , 4 books in maths and 5 in science.In how many
ways can they be arranged in row so that books on the same subject are together.
QUITBETTHTISHH6L 3 L% S SMIGET, &H6wNG S S0 4 LS SMRI&6T DMHMILD iMeTluiedled 5
LSS SMmiS6IT 2_6iTerent. G aNlau1sH 560 L& S &MiS6N p6TMIMs @\(h &G LOLIG.

UMD 61856060 QULNIGEM6D UFlenFLILESS (LDIg U|LD?



(i) Find the number of 4-digit integers that can be formed using the digits
0,2,3,4,5,6,7 if digits are not repeated .How many of them are divisible by 5?
0,2,3,4,5,6,7 @6v&8misemenll LILETL(HSS 2 (hH6UTES5alq Ll 4 @608 6160015660

6T6UOT6UUT G601 860G S6BuTL MILIELD . HEUMMIGD 618G 6EM6T 5 4,60 6UEGSHSLILIEH E60TM6DI?

. ()Inan AP,S3=33and Ss=50.Whatisaand d?
@@ AP @60, S =33 DMMILD S5=750. aDMMILD d Fie HM6Hus ?

(i) Find S 10 of an A.P whose nth term is ( 4n + 1).

AP @607 S 10 26 &SI, SIH60T n 61 CIFTEV (4n + 1).

(i) Prove that ng—COSQ = sin &
1+cos@® 1+cosé
/1—cos€ sin@
0& =
Hes l1+cos@ 1+cosé
cos* @ — Sin‘o
1—tan* @

(ii) Find

cos’ @— Sin‘o

1t 0 SHIT6U01S.
—lan
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